XDIT Y
5 2« 69 ~
M SHARMRTFYIT7I7#R
21 ( )
FEA] /{; *
[ZEDDHT] b 1 BREEFRkMPmEFoTETILNTES, /
100
[50720] @L< Obhs ADHBA 905l Feaks
D Ikm = m
@ 2km500m = m
@ 3200m = km m
@ 4700m = km m
® IkmlOm = m
® 4km80m = m

()ICHTIIEREMEZEZTELLSS
@ 1M HFGENY 3( )

@2 KANHO KX 65 ( )
QHMENHHOX g ( )
OHEDI-THEX 7 ( )

A <KI0R




IHhDITYEE
ol P 2% B ~

EFHIN SHMAFY77y7%8

A1 >
[#E4&] /Fff
[FEOHHT] v hueb i pBEEZkmPmE - THRTIENTES, /
100
[502229] Or<b1D ObHd APHBIN 00,5 B Po Bk
® Ikm = | (000 |m
@ 2km500m = 2S00 | m
@ 3200m =|3 |km| 20 O|m
® 4700m =4 km| 70 0 |m
® IkmIOm = { 0{ O m

® 4km80m = | 40 50\m

()ICHTIEEFLHEMEEEXFLLS,
@ BRI H<E DY 3(km)

@2 AN K> 65(cm)
@HEMEDOHHOT q (mm)
OHEN-TOERY 7(m )

R »<I0R




